Analysis CP- Unit 6
Multiple Choice Review
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	A) 
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2. Simplify: 
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	A) 
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	B) 
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3. Simplify: 
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	A) 
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	C) 
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	D) 
[image: image15.wmf]223

4141

i

+




4. Express 
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 in polar form.
	A) 
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	B) 
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	C) 
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	D) 
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5. Express 
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 in rectangular form.
	A) 
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	B) 
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	C) 
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6. Simplify 
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and express the result in rectangular form.

	A) 
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7. Simplify 
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 and express the result in rectangular form. 
	A) 
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8. Which of the following in not a root of 
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 to the nearest hundredth? 
	A) 
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	B) 
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	C) 
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	D) 
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For exercises 9-10, let 
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9. Write the rectangular form of 
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	A) 
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	B) 
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	C) 
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	D) 
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10. Write the rectangular form of 
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	A) 
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	B) 
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	C) 
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	D) 
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ANSWERS:

	1. B
	2. C
	3. D
	4. A
	5. D

	6. C
	7. B
	8. C
	9. D
	10. A
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